H7]
@ 10 Bt} & E490] 29
© 19 717k 49 2

® 299 29
© ut2 At 29
® olm 259 29

® 100 Hrh 2h2 Z=p9] 19

© 00 @ 0, ® 6,e,a

® 0066 00,66

® 17 @ 18 ® 19

®3e4 @ 4¢A ®8¢ecA
@ 2¢B ® 5¢B
A= {132737475}73 = {172} Oﬂ EHE}_Oq ANX =

X, (A-B)UX = X & ¥Esh= J9 X 9 7%

=7
@ 1A @ 27 @ 37
@ 474 ® 5 74

ol
10
ol
o
oz,

=
A

M oE Mo 2
[*]

%
2
rlo

n({z|ze =019 WAY) + n({0}) — n(2) 9

Tatolat,

Os T s A2?

@ n(2) =n({0})

@ n({1,2,4}) —n({1,4}) =2
® n({4}) =4

@ n({z|z= 40 ol5te] #}) =40

® n({zlze2<z <4 E5}) =

fijo

1




® BcA

@ B-A=02

® 2€ A°|H 2 € Bo|t}.
@ AnB=B

® n(A) > n(B)

2 Folsh shge 28 1,
5512 Zolsh SIS 23 oItk o] i 4312
Zotsh sPAlo] 41 Y 1, Sohut Folshi shye

2 1A Fstofzt

10. AA-E" U o F2HE A, B ol Histe] n(U) =
40, n(A) =19, n(B) = 27 °]aL n((AUB)°) = 3

o o, n(A°U B) & F5Fodzt,

11. Al A3 A = {z] 2= 1080 22 29 v}, B =
{@, 1, {1, 2}, {1, 2, 3}}, C ={0, @, {0, @}} &
o], n(A) + n(B) — n(C) & F3toiat.

2aga={ejo=1 nesors) 9 ag 3
n
22 g nF I2H?
® n(A) =4
@ A3 A o YAs9] g2 7 ot
® 8eA
@ Ac{1,2,4,8}
® A3t A 9 AFEEAR}O] = 15 7Rolth
13. HAHS U = {a,b,c,d, e} o] T FEHF A, B
st A— B ={a},B—A={c},A°N B¢ = {b,e}
d o, ANB =7
@ {5} @ {d} ® {b,d}
@ {b,c,d} ® {d,e}
14. % H% A = {zfz= 100 ©J5tQ1 69 v} |, B =
{] 3 <z <2090 &5} ol H5te] n(A) — n(B) 9




A
<
)
il T e CR | o AT
HledwiﬂaM
o PR W
T o— TR
T2 wT 4
o M o of
6 7_ﬂHoEH._L_L
W om s o
= 1 T o
" REoop T X a-

15.

@ n(A) <n(B)

® BcA

@ B-A=0

® AUB=B

@ Ac CBC




